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Figure 11.7



2. For the graph in Fig. 11.7, determine (a) a walk from b to
d that is not a trail; (b) a b-d trail that is not a path; (c) a path
from b to d; (d) a closed walk from b to b that is not a circuit;

(e) a circuit from b to b that is not a cycle; and (f) a cycle from
b to b.

b e f
d
g
= d
Figure 11.7

3. For the graph in Fig. 11.7, how many paths are there from
bto f?
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EXERCISES 11.2

1. Let G be the undirected graph in Fig. 11.27(a).

a) How many connected subgraphs of G have four vertices
and include a cycle?

b) Describe the subgraph G, (of G) in part (b) of the fig-
ure first, as an induced subgraph and second, in terms of
deleting a vertex of G.

¢) Describe the subgraph G; (of G) in part (¢) of the figure
first, as an induced subgraph and second, in terms of the
deletion of vertices of G.

d) Draw the subgraph of G induced by the set of vertices
U={b,c,d, f,i, j}.

e) For the graph G, let the edge e = {c¢, f}. Draw the sub-
graph G — e.

. a) Let G = (V, E) be an undirected graph, with G, =

(V,, E,) a subgraph of G. Under what condition(s) is G,
not an induced subgraph of G?

b) For the graph G in Fig. 11.27(a), find a subgraph that is
not an induced subgraph.

. @) How many spanning subgraphs are there for the graph

G in Fig. 11.27(a)?

(G,)

be

(c)







